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D: 24
Topic: Chemistry-Section A
Iltem No: 64
Question
ID: 100064




Question

Type: MCQ
0.05 M HCl €3 40 mL @7 &S 0.1 M NH,OH @3 20 mL GMIT 275 | W@ pH @3 S
Question: | |
gwe ¢ K, (NH,OH) =1 X 10>, log 2=10.30, log 3 =0.48,log 5 = 0.69, log 7 = 0.84, log 11 = 1.04

A 3.2
B: 4.2
C: 5.2
D: 6.2
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100065
Question MCQ
Type:

wiferel 1«7 AfR® Sifere 11 Geie |

SlIGE wiferl 11

(A)  Np(g)+3H,(g) — 2NH;(g) @ Cu
Question: (B) CO(g)+3H,(g) — CH,(g) + H,O(g) () Cu/ZnO—-Cr,0O4

(C) CO(g)+H,(g) = HCHO(g) () Fe,O,+K,0+ALO,

(D) CO(g) +2H,(g) — CH,OH(g) IV) Ni

e ave fmafer 2200 oo el fofze w4 |
A (A) - (1), (B) - (IV), (©) - (I), (D) - (1)
B: (A) - (1), (B) - (D), (C) - (IV), (D) - (1)
C: (A) - (IID), (B) - (IV), (C) - (1), (D) - (II)
D: (A) - (1), (B) - (1), (C) - (IV), (D) - (II)
Topic: Chemistry-Section A

Iltem No:

66




Question ID: |[100066

Question
Type: MCQ

Question: | f2zg BERG AT [Rn] 5f146d!7s2 Ri® @36 GEME@ IUPAC AN&a9 2361 —

A: Unnilbium

B: Unnilunium
C: Unnilquadium
D: Unniltrium
Topic: Chemistry-Section A
Item No: 67
Question ID: 100067
Question Type: | MCQ
I MR T 4o Rrra Sieye @l (k) 238—
(A) CaO
(B) FeO
Question: (C ) Al 20 N
(D) ZnO
(E) NiO
it ove R sl 23re o Team iz 4 |
A &= (C), (D)
B: (< (A), (B), (E)
c @ (A), (B)
D: (31 (B)
Topic: Chemistry-Section A
Item No: 68
Question ID: 100068
Question Type: | MCQ




Question: | SIIfEE WG AGIRN ARG 7% H,0, @7 e 5o w3
A an +

C: Mn3+

D: Mnét

Topic: Chemistry-Section A

Item No: 69

Question ID: 100069

Question Type: | MCQ

Question: FEE 1 ArgsleE T 7iE i iz 74
A: Li<K<Na<Rb<Cs

B: Li<Na<K<Rb<C(Cs

C: Cs<Rb< K< Na<Li

D: Li<Na<K<Cs<Rb

Topic: Chemistry-Section A

Item No: 70

Question ID: 100070

Question Type: | MCQ

Question:

R [iTTm Tewir ‘B’ (© 999 @IE@IeR SIRLiE siies sioq—

BE, + NaH —20K A 4 NaF
A + NMez — B
A eI FTeet
B: BRCKERTR
8 Prelfreiee
D: AR AT




Topic: Chemistry-Section A
Item No: 71

Question ID: (100071

Question

Type: MCQ

Question: | SORIG FPR 3 @I e Tevm Sweziteices (@ee agfe—
A BBl ) GIED
B: BT

c: ERG

D: D

Topic: Chemistry-Section A
Item No: 72

Question ID: 100072

Question Type: | MCQ

Question: APPSR @ 57 63 702 2
A: NO

D: HCHO

Topic: Chemistry-Section A
Item No: 73

Question | 100073

Question

Type: McQ




G A, X GRR Y G AT e s «g 4w Teoln frrers fom Teiee Teslv ‘a” @92 ‘b’ (73 |
‘a’ OF TR BT T3 R Teow SRS FAd |
Gy
L} a+0=C-CH,—C-CHj
, CHj CHj |
Question: | I CHj
H2C=C—CH2—C—CH3
I CHj CHj
a5 A —>b+O=C—CH2—(IZ—CH3
CHj;
X G Y’ Y& —
A KMnO,/H* &= dil. KMnO,, 273 K
B: KMnO,(dilute), 273 K €38 KMnO,/H*
c: KMnO,/H* &% O,, H,0/Zn
D: 0,, H,0/Zn &% KMnO,/H*
Topic: Chemistry-Section A
Iltem No: 74
Question ID: 100074
Question Type: | MCQ
Frfeie fiTatere wdfitors Afee Tesim 23—

OH

Question:
(i) HyC @ S0,Cl, fo1fifE
>

(i) NaCN, DMF




CN
A /‘t
CN
CN
C: jJ\
CN
D: /F\/
Topic: Chemistry-Section A
Item No: 75
Question
D- 100075
Question
Type: MCQ
Question: | fixfefe RiFFiulm @Rbre awe e AREDE ¢ Term Mis TR (R Fi—




@)
Cl H, H
).
Pd.BaSOy

A:
O

> () DIBAL-H _ H

(ii) H,O !

O
CO,CyHj5

C: :

(i) AlH(iso Bu)Z} H

(ii) H,O
> OH (i) NaCrj0; _ H

11) H2504, Hzo
Topic: Chemistry-Section A
Item No: 76
Question | 490076
Questi
T;Jpees: on MCQ
% (o= (@l A7, NH, & e R =i Tetst 9wmest (@15 ‘B ¢ 32 T2l Sical g Teleit
Question: | (19 ‘C’ (CgHNO,) Teim T | (715 ‘C’ 7 AR LRI R KOH, Siieizsl @Rk »7-[ [
3R OIZH 717 TR LS SR G0 aA2/fRs i sften a7 | @l ‘A’ 23—

A:

: : CHO
CHO




CHO
COOH

COOH
COOH

CHO
OH

Topic: Chemistry-Section A

Item No: 77

Question ID: 100077

Question Type: | MCQ

Question: Fefeie (W wreaE SR sl offve 23 2

H-N NH
2 YN\"/ 2
A NTN + HCHO




H,N NH,

+ HCHO

C:

NH,

NH,

//
N N + HCHO
NH,

Topic: Chemistry-Section A
Item No: 78

Question ID: 100078

Question Type: | MCQ

Question: =i gfowar fwa @i 51w sifige Aie—

A e

B: faSiae (CTFeE)
c T (GRFRTE)
D: SO ((FRAGHIAT)
Topic: Chemistry-Section A

Item No: 79

Question 1 100079

_?;pees:tion MCQ

@ @T4sfe] MYFTS: AT 7 5 N, T2 ORI A (77 3R ASIE @Y I ©Iwd Il
_i:ﬂ_

Question:

A ST (Seeem)




B: wieBialtes (Reataam)

C: RN GIRIERE

D: SO EBIRRTG

Topic: Chemistry-Section A
Iltem No: 80
Qgestion 100080
ID:
Question
Type: MCQ
s 72 R e v

ffe1:  KHSO, @ Wize Ted e frmaer ek ([Taigite) 23 @k st sifre

Question: | H |
e 11:  SHitErifena TR 1% it @3g f2PiREm ezl e a7z 27 |

A< at bize w41

A: f73fe 1 922 11 Teaz 5 |

B: f7gf® 1 @3 11 Teng we |

C: ﬁqﬁl%ﬁ%ﬁﬁf\@ll@|

D: e 1ge1 e fgfe 11 o= |
Topic: Chemistry-Section B
Item No: 81

Question ID: 100081

Question Type: | Numeric Answer

+ — 2— + — 2—
| N Nt N~ No2 05, 05%, 057,05
Question:

O3 Teler Foal SeapEry (SRMEELIN) @AF

Topic: Chemistry-Section B

Item No: 82




Question
ID:

100082

_I(?;pees:tion Numeric Answer
298 K SI?[NI@F 2o, ARFRD «R TRERIGIETER 72 9 (@aFfel) @3 2f[id I2@ e —2220.0
Question: | kJ mol~!, —393.5 k] mol ~! @& —285.8 k] mol ~!| &TAR (C,H,) & o7 ©l7 (GaiEA#)
FLLNSS T =& KJ mol ~ 1| (F=Gew #j¢f 7e2) |
Topic: Chemistry-Section B
Item No: 83
Question
D: 100083
?ues.tion Numeric Answer
ype:
G5 W R 27°C SIAN@R Bi 4 atm | Siofi@ SsiRRfES A1 omior #itaa sire e w1
Question: | T | S ~FAE Bief 2% x10~ 1 atm |
amg ¢ 27°C S7NIaR Ste| A Bl7l 0.4 atm |
Topic: Chemistry-Section B
Item No: 84
Question
D: 100084
?ues.tion Numeric Answer
ype:
298 K SI#I@ Zn|Zn2+ (aq)||Sn* + | Sn (FICER @17 Tea 2851 0.801 V | (17 R &gt e
Question: ((FITHI5) 2281 102 | G2 STFARG (T [ SwezaFd) ERGEa AL |
W g 4] = -, ’ o — ; Lﬂa‘o 2303RT -
( Ean+|Zn 0.763 V ESnx+|Sn +0.008 V 3% = =006V )
Topic: Chemistry-Section B
Item No: 85
Question
D: 100085
Question

Type:

Numeric Answer




QTS Biel 500 Torr 23051 & 9N A (091 RAGTCR SIAFRIE 240 s | SR 1ol 250 Torr 230

Question: | #IAMFE SHFFET 4.0 min |
fafer @ 23 | (7l Fz2)
Topic: Chemistry-Section B
Iltem No: 86
Question
D- 100086
Question .
Type: Numeric Answer
Twfee «feq Tole EPieR [ Fa—
[Co(NHa)e*
[CoCL(NH,)s]2+
Question: [CO(CN)als_
[Co(NH,),(H,O)]*
BZR T (@ GO @IS ToTow SHHRMCHA SR (<76 I O IoF-T1F FFF R I 7 T
B.M | (s{eizamia)
Topic: Chemistry-Section B
Item No: 87
Question
D- 100087
Question .
Type: Numeric Answer
Ouest Co3+, Ti2+, V2+ @@ Cr2t+ @@ W1y (@ e 19 ST 2300 Qgies I@ FE0s Al =i, Oigd
uestion:
-G FHF I G <7 W B.M | (7f1Re03) |
Topic: Chemistry-Section B
Iltem No: 88
Question
D- 100088
Question

Type:

Numeric Answer




(RETGE ARSCS GFb (& (7] AREGISR Al Wafaeel @Mor 0.25 g 71 2800 Ty Syl
2.5 mL #f= 2 M H,S0, T3¢ eifire TR #A1 |

Question:
Ted (TIiore FIRGEER el A 2%
Topic: Chemistry-Section B
Iltem No: 89
Question ID: 100089

Question Type: | Numeric Answer

-
Question: | SHIFIFE C,H-N (T sp3 ARG FRCT 7L 225
Topic: Chemistry-Section B
Item No: 90
Question ID: 100090

Question Type: | Numeric Answer

Question:

e
3 O

I
C-OEt O Et

» A
(41T Teoim)
CHZ—(HI—CH3
O

(941 Et 2881 — C,H:)
Tl ‘A’ (S FEA IR FAT




